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.param tdead = 300n

.param Tsw = 16000n
 
.param ton = {Tsw/2 - tdead}
 
.param delay1L = {tdead/2}
.param delay1U = {Tsw/2 + tdead/2}
.param trise = 100n
.param tfall = 100n
 
.param delay2L = {  (Tsw/2 + tdead/2) + phase_shift  }
.param delay2U = {  (tdead/2)  + phase_shift}

K L1 L2 L3 1

.tran 0 1.5m 0 startup

.param phase_shift_degrees = 148
 
.param phase_shift =  {   (1-(phase_shift_degrees/180)  ) * 8u}

.param res = 3.3

.param res1 = 10000

K1 L6 L8 1

K2 L7 L9 1

Change the "Phase_shift_degrees" value between
zero and 180 degrees.
Zero gives zero power output
180 gives max power output

-I(L8) * 50

48V, 1kW when  "phase_shift_degrees" is set to 148

350V
= Vin
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